CVEN 446

Relative Stiffness Example

For the building frame shown, determine the effective column length factor, K, the slenderness ratio,

KL/r for each column. Assume the columns buckle and the beams bend a%ou Lhﬂ_ﬂ%ﬂ@j_
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Note that the diagonal bracing inhibits sidesway only in the first story.
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Column Grop Gaur ' K } KL/r
AD 0.85 1.0 0.76 Braced  0.76(15)(12)/5.25 =26.1
BE 0.87 100 . 0.85 Braced  0.85(15)(12)/5.25=29.1
2
CF 1.91 10.0,, 0.90 Braced  0.90(15)(12)/5.25 = 30.9
EG 0.90 0.87 1.29 Unbraced  1.29(12)(12)/5.17 =35.9
FH 0.90 1.91 1.43 Unbraced 1.43(12)(12)/5.17=39.8




